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The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level Commerce 7100, and 
to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum and 
assessment objectives. 

In this booklet candidate responses have been chosen from the June 2021 series to exemplify a range of answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question. 

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are: 

June 2021 Question Paper 22

June 2021 Paper 22 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

http://www.cambridgeinternational.org/support
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How the candidate could have improved their answer

• (a)–(d) The candidate demonstrated good knowledge and understanding on a wide range of commercial topics.
However, they needed to supply a relevant example of mechanised equipment to unload a ship’s cargo. If they had
studied Fig.1.1 more closely, they would have identified cranes as a correct answer.

Common mistakes candidates made in this question

• (a)(i) Some candidates thought the ship shown in Fig. 1.1. was a ferry.
• (b) Answers giving an example without mentioning the importance of communication.
• (c) Lacking linked explanations to actions to reduce plastic pollution.
• (e)(ii) Providing general answers on warehousing instead of specifically relating their answers to bonded

warehouses.
Lists the common mistakes candidates made 

in answering each question. This will help your 
learners to avoid these mistakes and give them the 

best chance of achieving the available marks.

Often candidates were not 
awarded marks because they misread or 

misinterpreted the questions. 

       The candidate gives a 
valid reason why effective 
communication is important.

       A relevant example is 
given.
Mark for (b) = 2 out of 2

       An action is correctly 
identified.

       The candidate gives 
an explanation linked to the 
action identified.
Mark for (c) = 2 out of 2
       

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 

helps your learners to refine their exam technique.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the examiner comments.

Example Candidate Response – high Examiner comments

6

5

3

4

Answers are by real candidates in exam 
conditions. These show you the types of answers for 

each level. Discuss and analyse the answers with your 
learners in the classroom to improve their skills.

3

4

5

6
Examiner comments are 

alongside the answers. These 
explain where and why marks 
were awarded. This helps you 

to interpret the standard of 
Cambridge exams so you can 

help your learners to refine their 
exam technique.
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Question 1

Example Candidate Response – high Examiner comments

1

2

3

4

       The candidate identifies the 
correct type of ship in Fig. 1.1.
Mark for (a)(i) = 1 out of 1

       The candidate gives a relevant 
example.
Mark for (a)(ii) = 1 out of 1

       The candidate gives a valid 
reason why effective communication 
is important.

       A relevant example is given.
Mark for (b) = 2 out of 2

       The candidate identifies a 
correct action.

       The candidate gives an 
explanation linked to the action 
identified.
Mark for (c) = 2 out of 2

3

4

1

2

5

65

6



Example Candidate Responses - Paper 2

7

Example Candidate Response – high, continued Examiner comments

       The candidate circles both 
correct answers.
Mark for (d) = 2 out of 2

       The candidate makes a 
supported judgement in the first 
sentence.

       The candidate makes further 
points of valid reasoning in support 
of their judgement.
Mark for (e)(i) = 4 out of 4

       There are 6 marks available: 
2 marks for knowledge and 
understanding, 2 marks for analysis 
and 2 marks for evaluating how 
important bonded warehouses are 
in international trade.

       The candidate demonstrates 
clear knowledge of what a bonded 
warehouse is used for.

       The candidate begins to 
analyse the importance of a bonded 
warehouse to an importer.

       The evaluation is clearly based 
on the points analysed.
Mark for (e)(ii) = 6 out of 6

Total mark awarded =
18 out of 18

7

8

7

8

How the candidate could have improved their answer
• (a)–(d) The candidate achieved full marks with good knowledge and understanding demonstrated on a wide range

of commercial topics.
• (e) The candidate successfully demonstrated effective evaluative skills in both parts of this question.

9

10

11

12

13

9

10

11

12

13
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Example Candidate Response – middle Examiner comments

       The candidate identifies a 
correct type of ship shown in 
Fig. 1.1. 
Mark for (a)(i) = 1 out of 1

       A bulldozer would normally be 
used for clearing land rather than 
unloading cargo.  Therefore, no 
mark could be awarded.
Mark for (a)(ii) = 0 out of 1

       The candidate gives a 
valid reason why effective 
communication is important.

       A relevant example is given.
Mark for (b) = 2 out of 2

       An action is correctly identified.

       The candidate gives an 
explanation linked to the action 
identified.
Mark for (c) = 2 out of 2

5

6

5

6

3

4

1

2

3

4

1

2
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Example Candidate Response – middle, continued Examiner comments

       The candidate circles both 
correct answers.
Mark for (d) = 2 out of 2

       The candidate makes a 
judgement in the final sentence 
based on two relevant reasons 
about the collection of international 
statistics so that the balance of 
trade can be calculated.
Mark for (e)(i) = 2 out of 4

       The candidate demonstrates 
clear knowledge of what a bonded 
warehouse is used for.

       There is some simple analysis 
on why a bonded warehouse is 
important to an importer.

       There is further analysis on 
how bonded warehouses are 
important to both the government 
and to importers.
However, there is no evaluation 
of their importance in international 
trade which restricts the number of 
marks awarded.
Mark for (e)(ii) = 4 out of 6
 
Total mark awarded =
13 out of 18

7

8

7

8

How the candidate could have improved their answer
•	 (a)–(d) The candidate demonstrated good knowledge and understanding on a wide range of commercial topics. 

However, they needed to supply a relevant example of mechanised equipment to unload a ship’s cargo. If they had 
studied Fig.1.1 more closely, they would have identified cranes as a correct answer.

•	 (e) Both parts of this question required the candidate to evaluate. If asked to evaluate, candidates should make 
a judgement based on weighing up points for and against what they are asked to evaluate. The response should 
provide a verdict as to what extent the candidate agrees with a statement, by presenting evidence and examples 
taken from sources that both agree with and contradict the statement in question. They should then come to a final 
decision as to what they judge to be the most important factor leading to their decision and provide justification, 
including any factors that have affected their judgement, such as the quality of information available. The argument 
should be supported with evidence and examples from theory and practice. 

•	 (e)(ii) The candidate did demonstrate sound knowledge and understanding with some analysis but did not provide 
an evaluation, so they were unable to access the full range of marks.

9

10

119

10

11
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Example Candidate Response – low Examiner comments

       The candidate identifies the 
correct type of ship shown in 
Fig. 1.1.
Mark for (a)(i) = 1 out of 1

       The example of a machine is 
too vague to be creditworthy.
Mark for (a)(ii) = 0 out of 1

       The candidate gives a valid 
reason why effective communication 
is important.

       A relevant example is given.
Mark for (b) = 2 out of 2

       An action is identified.

       The explanation is too vague 
and simply repeats the question 
with different wording.
Mark for (c) = 1 out of 25 6

3
4

1

2

5

6

3

4

1

2
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Example Candidate Response – low, continued Examiner comments

       The candidate circles one 
of the correct answers.  Freight 
forwarders help with logistics, not 
currencies.
Mark for (d) = 1 out of 2

       No judgement is made and 
there is no relevant reasoning on 
the work of customs authorities.
Mark for (e)(i) = 0 out of 4

       There is some description 
of where a bonded warehouse is 
located and its purpose.

       The remainder of this answer is 
very general and could apply to any 
warehouse.  There is no analysis 
or evaluation of the importance of 
bonded warehouses to international 
trade.
Mark for (e)(ii) = 2 out of 6

Total mark awarded =
7 out of 18

7

8

7

8

9

109

10
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How the candidate could have improved their answer
•	 (a)(ii) The candidate needed to provide a specific example of mechanised equipment used to unload cargo.
•	 (c) The candidate could have explained the relevant action identified instead of simply rewording the question.
•	 (d) More knowledge was needed about the role of freight forwarders.
•	 (e)(i) The question began with the command ‘Do you think’. When this is used, the candidate should provide 

a thorough assessment of the evidence on one, or both, sides of an argument. The candidate can do this by 
explaining and developing one side of an argument and qualifying the points made, or by developing alternative 
arguments. They should arrive at a judgement having presented a reasoned case using examples and considering 
different perspectives as to how far they agree with the statement in question. They should provide a verdict as to 
what extent they agree with the statement. In this answer, there was no attempt to make a judgement and a lack of 
knowledge was shown on the role of customs authorities.

•	 (e)(ii) The candidate could have included more knowledge points, relevant analysis and evaluation.

Common mistakes candidates made in this question
•	 (a)(i) Some candidates thought the ship shown in Fig. 1.1. was a ferry.
•	 (b) Answers giving an example without mentioning the importance of communication.
•	 (c) Lacking linked explanations to actions to reduce plastic pollution.
•	 (e)(ii) Providing general answers on warehousing instead of specifically relating their answers to bonded 

warehouses.
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       The candidate correctly 
identifies the type of industry.
Mark for (a) = 1 out of 1

       The candidate correctly states 
three features of a partnership.
Mark for (b) = 3 out of 3

       The candidate makes an 
unsupported judgement in the 
first sentence, but then explains 
a relevant reason in the next two 
sentences.

       The candidate gives a further 
range of reasons to support their 
earlier judgement.

       The candidate supports 
their judgement with a justified 
evaluation.
Mark for (c) = 3 out of 3

Question 2

Example Candidate Response – high Examiner comments

1

2

3

4

3

4

1

2

5

5
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Example Candidate Response – high, continued Examiner comments

       There are 8 marks available 
for this question: 4 marks for 
knowledge and understanding, 2 
marks for analysis and 2 marks 
for a recommendation evaluating 
whether the partnership should use 
personal savings or a long-term 
loan to buy equipment.

       The candidate begins their 
argument with relevant  points 
about the use of personal 
savings showing knowledge and 
understanding at Level 1.

       The candidate continues their 
argument by providing some further 
Level 1 points and some Level 2 
analysis on the use of a long-term 
loan.

       The candidate makes a 
recommendation which accesses 
Level 3 marks. However, as there 
has only been one preceding point 
of analysis at Level 2, the candidate 
is unable to obtain maximum marks.
Mark for (d) = 7 out of 8

Total mark awarded =
14 out of 15

7

8

7

8

9

9

6
6

How the candidate could have improved their answer
•	 (a) The candidate gave two answers. The first, and the correct answer, was accepted. The second answer would 

not have been accepted by examiners as it is only partly correct. The more precise commercial term of direct 
services should have been used.

•	 (b)–(c) The candidate achieved full marks with good knowledge and understanding demonstrated on the topics of 
production and business organisations. No improvements could have been made. 

•	 (d) The candidate needed more supporting analysis to their final evaluation, as the recommendation was supported 
only by a repeat of the argument. More supporting evidence at Level 2 was required for full marks.
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Example Candidate Response – middle Examiner comments

       The candidate correctly 
identifies the type of industry.
Mark for (a) = 1 out of 1

       The candidate correctly states 
three features of a partnership.
Mark for (b) = 3 out of 3

       The candidate makes a 
supported judgement in the first 
sentence. 

       The candidate has provided 
one positive and one negative 
reason both of which are 
acceptable. 
Mark for (c) = 2 out of 3

3

4

1

2

3

4

1

2
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Example Candidate Response – middle, continued Examiner comments

       The candidate begins their 
argument with relevant points 
about the use of personal 
savings showing knowledge and 
understanding at Level 1.

       The candidate continues their 
argument with points about the use 
of a long-term loan, continuing to 
show knowledge and understanding 
at Level 1.

       Although the candidate makes 
a recommendation with some 
reasoning, they are unable to 
access Level 3 marks as there is no 
Level 2 supporting analysis in their 
answer.
Mark for (d) = 4 out of 8

Total mark awarded =
10 out of 15

7

7

6

6

How the candidate could have improved their answer
•	 (a)–(b) The candidate achieved full marks with good knowledge and understanding demonstrated on the topics of 

production and features of a partnership. There was no room for improvement in this answer.
•	 (c) The candidate needed to either develop their reasoning further on the point raised or provide more reasons to 

support their judgement.
•	 (d) It would have been useful to clearly define both personal savings and long-term loan at the start of the answer, 

then to provide supporting analysis linked to the Level 1 points given. Without any Level 2 supporting analysis, the 
evaluation was not able to gain any marks.

5

5
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Example Candidate Response – low Examiner comments

       The candidate correctly 
identifies the type of industry.
Mark for (a) = 1 out of 1

       The candidate correctly 
identifies one feature of possible 
partnership features. Two and 
three are advantages rather than 
features.
Mark for (b) = 1 out of 3

       The candidate makes a 
supported judgement in the first 
sentence. The second sentence is 
not a valid reason.
Mark for (c) = 1 out of 3

       The candidate makes one 
point concerning the use of a long-
term loan which is at Level 1.

       The remainder of the answer 
does not contain any further 
relevant points, for Level 1 or Level 
2.
Mark for (d) = 1 out of 8

Total mark awarded =
4 out of 15

3

4

1

2

3

4

1

2

5

5
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How the candidate could have improved their answer
•	 (a) The candidate achieved full marks with good knowledge and understanding demonstrated on the topic of 

production.
•	 (b) The question asked candidates to state three features whereas the candidate stated one feature and two 

advantages instead. To improve their answer, the candidate needed to focus on features. The candidate needed to 
know the difference between a feature and an advantage.

•	 (c) The candidate needed to either develop their reasoning on the one point raised or provide more reasons to 
support their judgement.

•	 (d) The candidate was awarded a Level 1 mark for knowledge. The rest of the answer lacked any supporting 
analytical comments or evaluation, so no further marks were awarded.

Common mistakes candidates made in this question
•	 (a) Ignoring the context of the question, so answers were sometimes too vague and could refer to any business.
•	 (b) Some responses stated advantages rather than features of a partnership.
•	 (c) Some candidates did not develop their reasoning sufficiently for this question.
•	 (d) Some answers did not support knowledge points with analytical explanation. Candidates who did make a 

recommendation did not always justify it.
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       The correct answer is selected.
Mark for (a)(i) = 1 out of 1

       A valid example of outdoor 
advertising is given.
Mark for (a)(ii) = 1 out of 1

       The candidate calculates the 
correct answer using the correct 
method.
Mark for (a)(iii) = 2 out of 2

Question 3

Example Candidate Response – high Examiner comments

1

2

3

3

1

2
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Example Candidate Response – high, continued Examiner comments

       The candidate makes one point 
concerning the use of a long-term 
loan which is at Level 1.
Mark for (b) = 2 out of 2

       The remainder of the answer 
does not contain any further 
relevant points, for Level 1 or Level 
2.

       It is not correct to say that 
internet advertising costs no money. 
However, the candidate does give a 
reason by stating it was cheaper for 
businesses to advertise, but there 
was no linked explanation.
Mark for (c) = 3 out of 4

       There are 6 marks available: 
2 marks for knowledge and 
understanding, 2 marks for analysis 
and 2 marks for evaluating the 
negative effects of advertising on 
consumers.

       The candidate describes and 
analyses a negative effect.

       The candidate describes and 
analyses 2 more negative effects. 
However, as there is no evaluation, 
the candidate cannot access the 
final two marks.
Mark for (d) = 4 out of 6

Total mark awarded =
13 out of 16

7

8

7

8

9

9

6

6

How the candidate could have improved their answer
•	 (a) The candidate achieved full marks by applying their answers effectively to Fig. 3.1. No areas of improvement 

could be identified for this question.
•	 (b) The answer clearly linked the explanation to a valid reason.
•	 (c) Two reasons for the growth of internet advertising were identified: greater use of social media and cost. The 

second reason needed further explanation.
•	 (d) The candidate made a good attempt at describing and analysing negative effects of advertising for consumers. 

However, there was no attempt at evaluation which is needed to obtain higher marks in this question.

4

5

4

5



Example Candidate Responses - Paper 2

21

Example Candidate Response – middle Examiner comments

       The candidate selects the 
correct answer.
Mark for (a)(i) = 1 out of 1

       A valid example of outdoor 
advertising is given.
Mark for (a)(ii) = 1 out of 1

       An incorrect method is used to 
calculate an incorrect answer so no 
marks can be awarded.
Mark for (a)(iii) = 0 out of 23

1

2

3

1

2
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Example Candidate Response – middle, continued Examiner comments

       The candidate sufficiently 
explains a relevant reason.
Mark for (b) = 2 out of 2

       The candidate gives a 
relevant reason for the growth of 
internet advertising with a linked 
explanation.

       The growth of online shopping 
is not a reason for the growth of 
internet advertising. This response 
required further explanation to be 
creditworthy.
Mark for (c) = 2 out of 4

       The response identified two 
negative effects of advertising on 
consumers.

       The last sentence analyses a 
negative effect of advertising on 
consumers.
Mark for (d) = 3 out of 6

Total mark awarded =
9 out of 16

7

8

7

8

6

6

How the candidate could have improved their answer
•	 (a)(iii) The candidate did not use the correct formula, therefore, the calculation was incorrect.
•	 (b) The answer clearly linked their explanation to a valid reason.
•	 (c) Only one of the two explained reasons given was valid.
•	 (d) The candidate made some attempt at describing and analysing one negative effect of advertising for 

consumers. As there was no attempt at evaluation, only three marks were awarded.

4

5

4

5
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Example Candidate Response – low Examiner comments

       An incorrect answer is given.
Mark for (a)(i) = 0 out of 1

       A valid example of outdoor 
advertising is given.
Mark for (a)(ii) = 1 out of 1

       An incorrect method is used to 
calculate an incorrect answer so no 
marks can be awarded.
Mark for (a)(iii) = 0 out of 2

3

1

2

3

1

2
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Example Candidate Response – low, continued Examiner comments

       The candidate gives two valid 
explanations why the cinema is not 
a popular form of advertising.
Mark for (b) = 2 out of 2

       Neither reason given 
shows sufficient knowledge nor 
understanding about the growth of 
internet advertising to score any 
marks.
Mark for (c) = 0 out of 4

       The candidate describes a 
negative effect and analyses it.

       This is not a negative effect of 
advertising on consumers.
Mark for (d) = 3 out of 6

Total mark awarded =
6 out of 16

7

6

4

5

7

6

4

5

How the candidate could have improved their answer
•	 (a)(i) The candidate incorrectly used the data for 2020 instead of 2016. This highlights the importance of reading 

the question carefully.
•	 (a)(iii) The candidate did not use the correct formula, therefore, the calculation was incorrect.
•	 (b) The candidate gave relevant reasoning.
•	 (c) The candidate needed to provide valid reasons for the growth of the internet.
•	 (d) The candidate made some attempt at describing and analysing one negative effect of advertising for 

consumers. As there was no attempt at evaluation, only 3 marks were awarded.

Common mistakes candidates made in this question
•	 (a)(iii) Some answers used the correct calculation method but gave an incorrect final answer.
•	 (b) Some candidates did not develop their answers sufficiently with further points of explanation.
•	 (c) Some candidates gave reasons for the growth of online shopping instead of internet advertising or repeated the 

same reason again, using different wording.
•	 (d) Candidates identified negative effects of advertising on consumers but found difficulty in analysing and then 

evaluating the effects. A small minority of candidates gave positive effects of advertising which was not required by 
the wording of the question.
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       The candidate correctly states 
three ATM bank services. 
Mark for (a)(i) = 3 out of 3

       The candidate identifies a 
relevant advantage and then 
explains why it is an advantage to a 
customer.

       The candidate identifies a 
different advantage and then 
explains why it is an advantage to a 
customer.
Mark for (a)(iii) = 4 out of 4

       There are 6 marks available: 
2 marks for knowledge and 
understanding, 2 marks for analysis 
and 2 marks for discussing whether 
moving towards a cashless society 
will benefit consumers.

       The candidate begins by 
demonstrating clear knowledge of a 
cashless society.

       The candidate analyses a 
reason how a cashless society will 
benefit consumers.

       The candidate analyses a 
reason how a cashless society will 
not benefit consumers.

       This is a justified evaluation 
based on effective reasoning of 
analysed points.
Mark for (b) = 5 out of 6

Total mark awarded =
12 out of 13

Question 4

Example Candidate Response – high Examiner comments

1

2

3

3

1

2

7

8

6

4
5

7

8

6

4

5
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How the candidate could have improved their answer
•	 (a) The candidate achieved full marks with good knowledge and understanding demonstrated on ATM banking 

services and the advantages to a customer of using internet banking.
•	 (b) The candidate started off their answer well by defining the concept of a cashless society with some analysis. 

There was an evaluation but as it was based on only one Level 2 analysed point, 5 marks were awarded. It needed 
stronger analysis in the body of the answer to obtain full marks.
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Example Candidate Response – middle Examiner comments

       The candidate correctly states 
three ATM bank services. It doe not 
matter that the word ‘withdraw’ is 
misspelt as the intention is clear.
Mark for (a)(i) = 3 out of 3

       The candidate identifies a 
relevant advantage and explains 
why it is an advantage to a 
customer.

       The candidate identifies a 
different advantage and explains 
why it is an advantage to a 
customer.
Mark for (a)(ii) = 4 out of 4

       The candidate begins by 
demonstrating some knowledge 
and understanding of what a 
cashless society means.

       The remainder of the answer 
is a simple description without any 
analysis or evaluation. Therefore, 
it can only be awarded marks for 
describing a cashless society.
Mark for (b) = 2 out of 6

Total mark awarded =
9 out of 13

3

1

2

3

1

2

4

5

4

5

How the candidate could have improved their answer
•	 (a) The candidate achieved full marks with good knowledge and understanding demonstrated on ATM banking 

services and the advantages to a customer of using internet banking.
•	 (b) The candidate started off their answer well by defining the concept of a cashless society. The rest of the answer 

described consumers’ views of a cashless society. The command word for this question was discuss, which 
required candidates to examine an issue in detail by addressing a range of key ideas and reasons for and against 
the issue and make a judgement. In this answer, there was no attempt to analyse or to arrive at an evaluated 
decision.



Example Candidate Responses - Paper 2

28

Example Candidate Response – low Examiner comments

       The candidate correctly 
states three ATM bank services. 
In fact, this candidate gives a 
fourth service in the final point. It 
is important to note that adding 
an extra service did not score any 
more marks and may have wasted 
valuable time.
Mark for (a)(i) = 3 out of 3

       The candidate identifies a 
relevant advantage but does not 
explain why it was an advantage to 
a customer.

       The first part of this answer 
does not count as an advantage. 
However, there is a relevant 
advantage identified in the second 
part of the answer, but without an 
explanation.
Mark for (a)(ii) = 2 out of 4

       There is some understanding 
of the concept of a cashless society 
in this first sentence.

       The answer strays into the 
topic of internet banking rather than 
a cashless society.
Mark for (b) = 1 out of 6

Total mark awarded =
6 out of 13

3

1

2

3

1

2

5

4

5

4
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How the candidate could have improved their answer
•	 (a) The candidate achieved full marks with good knowledge and understanding demonstrated on ATM banking 

services.
•	 (b) The candidate identified two advantages to a customer using internet banking, however they needed to explain 

these.
•	 (b) There was some attempt to define the term ‘cashless society’, but the answer was mainly directed to using 

internet banking, which was the previous question. Candidates must ensure they read the questions.

Common mistakes candidates made in this question
•	 (a)(i) Giving similar ATM bank services that were expressed in different ways or stating advantages of using an 

ATM.
•	 (a)(ii) Not explaining the advantages to show how internet banking helped the consumer.
•	 (b) Confusing cashless society with the inability to buy goods and services and not supporting knowledge points 

with analysis.
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       The candidate accurately 
completes all four parts of this 
commercial document to obtain 
maximum marks.
Mark for (a) = 4 out of 4

       The candidate gives a justified 
reason why trade discount should 
be given. However, there is 
repetition as bulk buying is the 
same as buying in large quantities.

       There is a relevant reason 
that a wholesaler, by offering trade 
discount, stops buyers from going 
to competitors.  The final sentence 
is not awarded marks as there is 
repetition with bulk buying.
Mark for (b) = 2 out of 3

       The three correct statements 
are ticked.
Mark for (c) = 3 out of 3

Question 5

Example Candidate Response – high Examiner comments
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Example Candidate Response – high, continued Examiner comments

       There are 8 marks available: 
4 marks for knowledge and 
understanding, 2 marks for analysis 
and 2 marks for a recommendation 
evaluating whether clothing 
retailers should use social media 
or loyalty cards to compete against 
online retailers.

       The candidate begins their 
argument with points about the use 
of social media showing relevant 
knowledge and understanding at 
Level 1.

       The candidate continues their 
argument by providing Level 1 
points and some Level 2 analysis 
on the benefits of using social 
media.

       This point about retailers not 
paying for social media advertising 
is incorrect.

       The candidate continues their 
argument by providing Level 1 
points and some Level 2 analysis 
on the benefits of using loyalty 
reward cards.

       A recommendation is made 
achieving Level 3 marks. As 
two relevant Level 2 points of 
analysis have already been made, 
the candidate is able to obtain 
maximum marks.
Mark for (d) = 8 out of 8

Total mark awarded =
17 out of 18

7

6

5

7

6

5

How the candidate could have improved their answer
•	 (a) The candidate achieved full marks by applying data correctly to a credit note document.
•	 (b)–(c) The candidate achieved good marks with good knowledge and understanding demonstrated on the topics 

of trade documents and wholesaling.
•	 (d) The candidate demonstrated sound knowledge, with some analysis, of both social media and loyalty cards. 

There was effective reasoning to the recommended course of action. Although this candidate has made one factual 
error, it did not prevent them from gaining maximum marks.
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9
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8

9

10
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Example Candidate Response – middle Examiner comments

       The candidate gives an 
incorrect answer. A delivery note 
does not usually show the prices of 
goods as it is not necessary for the 
delivery person to know how much 
the goods cost.

       The candidate accurately 
completes all three parts of the 
totals.
Mark for (a) = 3 out of 4

       The candidate gives a range 
of relevant reasons to support their 
earlier judgement of ‘yes’ in the first 
sentence. 
Mark for (b) = 3 out of 3

       This is a correctly ticked 
answer.

       This is an incorrectly ticked 
answer.

       This is a correctly ticked false 
answer.
Mark for (c) = 2 out of 3
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Example Candidate Response – middle, continued Examiner comments

       The candidate begins their 
argument with relevant knowledge 
and understanding at Level 1 with 
points about the use of social 
media.

       The candidate continues their 
argument by providing Level 1 
points and some Level 2 analysis 
of the drawbacks of using social 
media.

       The candidate continues their 
argument by providing Level 1 
points, but without Level 2 analysis 
of the benefits of using reward 
cards.

       The candidate makes a 
recommendation, but the reasoning 
is too vague to be awarded Level 3.
Mark for (d) = 5 out of 8

Total mark awarded =
13 out of 18

7

7

How the candidate could have improved their answer
•	 (a) The candidate achieved three of the marks available by applying data correctly to a commercial document. 

The clue to the correct answer of credit note to part (i) was the fact that the document contained the words ‘goods 
damaged in transit’.

•	 (b) The candidate supported their judgement with relevant reasoning, so this could not be improved on.
•	 (c) In the second statement, there was a lack of knowledge on overseas intermediaries.
•	 (d) The candidate started off their answer well by demonstrating knowledge and understanding of both social 

media and loyalty cards. There was some analysis of social media presence, but the recommended course of 
action was vague and lacked justification.
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Example Candidate Response – low Examiner comments

       The candidate gives an 
incorrect answer and is simply 
repeating the wording in the 
question.

       The candidate correctly 
calculates the total cost of goods 
before the trade discount.

       The candidate incorrectly 
calculates trade discount at 5%, 
not 20%.

       The candidate is not able to 
obtain a mark as they have added 
the trade discount to the total 
instead of deducting it. Based on 
the ‘own figure rule’, if they had 
subtracted their incorrect figure for 
trade discount from the total, they 
could have earned a mark.
Mark for (a) = 1 out of 4

       The candidate shows 
understanding of what trade 
discount is with some supported 
reasoning.
Mark for (b) = 2 out of 3

       The three correct statements 
are ticked.
Mark for (c) = 3 out of 3
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Example Candidate Response – low, continued Examiner comments

       The candidate has limited 
knowledge and understanding of 
the use of social media.

       The candidate makes one 
correct point at Level 1, that 
loyalty card holders may receive 
discounts, but this is then repeated 
and cannot be rewarded again. 
There is no supporting Level 2 
analysis.
Mark for (d) = 1 out of 8

Total mark awarded =
7 out of 18

7

8

How the candidate could have improved their answer
•	 (a) The candidate did not identify a specific commercial document to part (i) and miscalculated parts (iii) and (iv).
•	 (b) The candidate needed to either develop their reasoning on the one point raised or provide more reasons to 

support their judgement.
•	 (c) The candidate achieved full marks with good knowledge and understanding demonstrated on the topic of 

wholesaling.
•	 (d) The candidate was awarded one Level 1 mark for knowledge. The rest of the answer lacked any supporting 

analytical explanations or evaluation.

Common mistakes candidates made in this question
•	 (a) Adding the trade discount to the total cost instead of subtracting it.
•	 (b) Some candidates mistook trade discount for cash discount or did not justify their reasoning.
•	 (c) Confusing social media with internet websites. Not reaching a final recommended course of action. Others 

offered a recommended course of action but did not support with earlier analysis.
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